Probability and Al

ra Problem

Milo and Milly both sit their driving theory
test. The probability of passing the test is
higher than the probability of failing the

test. The probability that Milo passes the

2
test but Millie fails the test is Flo' Find the
probability that both of them fail the test.

There are 9 yellow pencils and some
green pencils in a pencil case. Two pencils
are pulled out at random. The probability

6
that both pencils are yellow is = Find the

number of green pencils in the pencil
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A jar contains only orange sweets and
lemon sweets. There is one more orange
sweet than there are lemon sweets. Two
sweets are chosen at random from the
jar. The probability of choosing two lemon

11
sweets is = Find the number of orange

sweets and the number of lemon sweets
in the jar.
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There are black and white socks in a
drawer. There are four more black socks
than white socks. Finn chooses two socks
at random from the drawer. The
probability of him choosing one of each
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colour sock is e Find the number of

white socks and the number of black
socks in the drawer.
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